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Translation in English
Sub: Economics of Development (Part-11) (EC-403)

Date :

27/12/2022 Marks : 60 Time : 2.00 pm To 4.30 pm

Instructions:

1) All Questions are Compulsory.

2) Figures to the right indicate full marks.

3) In the case of any doubt the Marathi version shall be held to be authentic and
final.

4) Draw the diagram with pencil wherever necessary.

5) While writing answers the respective question numbers must be mentioned in
the Answer Book.

Q.1
1.1

1.2

1.3
14
1.5

1.6

Q.2.
2.1
2.2
23

24

Q.3.
3.1
3.2
3.3

3.4

Answer the following questions in brief. (Any Four)
Critically appraise the strategy of unbalanced growth

Explain the difference between labour-intensive technology and capital-
intensive technology.

Explain the role of state and private capitalists with respect to Lewis’s theory.
Discuss Rostow’s theory with respect to developing countries.

Explain the classification of work of government in the development process of
an economy.

Explain the Nurkes’s theory of disguised unemployment as a saving potential.

Answer the following questions in short. (Any Two)
Explain the Social overhead capital.

Explain the Rostow’s stages of economic growth.
Explain the limitations of Big push theory.
Explain the Public health and family planning.

Write short notes. (Any Two)

Foreign aid and India
Industrial development
Government intervention

Technology

(40)

(10)

(10)
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